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HET 9 d YR, 2019—20
[7206-B]
MATHEMATICS
G|

(Hindi & English Versions)

[Total No. of Questions: 26] [Total No. of Printed Pages. Tt;i
[Time: 03 Hours] [Maximum Marks: 100]

A3 -
(1) g st &

@) T¥T BHE 1 8 5 TF TR FEN & T 8/
() & B 6 26 ¥ yrans Reey 19 1 &/
(4) TF FR P T &

Instructions :-
(1) All questions are compulsory.

(2) Question nos.1to 5 are objective type questions.

(3) Internal options are given in question numbers & to 26.

(4) Graph paperis required.
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() TguR PX) = 2x + 5 &7 s & —
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® s (b)y =
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0 (d) -g
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(v) WM U fwm wga Wl B aed s -
@ 3 ) 4
) 7 Ad) 5
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Ch(}oge th
€ correc ;
L Ooption and write itin your answer book

) The valye of 643 is-
(a) §
(d) 6
(c) 4
r d) 16
11)
The zerg of Polynomial p(x) = 7y 4 5 is-
(a) =2
s & 3
(cy 2
: @ 3
(iii
1) The volume of sphere is-
(a) Zpp3
- (b) 4mr3
(€) =Zm3
) nr d) 2mr?
(1v) The probability of getting 0 (zero) on throwing of a dice is-
@ 0 (b) 1
l 1
© @ -

(v) The mean of first five odd natural numbers will be-

(c) 7 @ 5
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Y2 figy

(i) :z a? ‘H;ﬁ e . £ (1) s

i ii.,a- (;‘ TXOHDR ET O )

0) B B ye. .

(1) nfa 22 T BRI ?Fﬂl (8/6)

(iv) mﬁm,m NI A E’R"ﬂ%{ (1/0)

) s :T BN L 3200

Fill in the h: FCSOR A a4 b4 01 S

anks.

:::] :‘t :’c_f ficient of x? in polynomial 8- x? + 1 i8..ec-eeo: evneesees (1/-1_ )

rdinate of co-ordinate (7, -6) is........oenen: R (7/-6)

3K = 24, then the Value of x i.......orovrsrrerreere s (8/6)

(V) The maximum value of probability iS..........ccceneerrsssesensarseren (1/0)
oy ;:{::TP :1;; t; FC=0.then @+ b4 O (0/ 3abc)

- e /3y fofag ~  http://www.mpboardonline.com (5x1=

) V3 & Rt ey 2

) X+y=0 @ gd x=1,y=-12

(1) x =0, x-31&1 FT GhrF=o 2

(iv) aga® maﬁﬁﬁmaﬁmﬁmmqﬁqﬁm%l

(v) WWﬁWWﬁﬁmﬁmimgk

Write true/false in the followings-

(i) V3 is an irrational number.

(ii) A solution of x + y=0isx=1and y=-1,

(iii) x = 0 is an equation of x - axjs;

(iv) A mode is not that value among the Obsel'vatm:;g Wﬁlch . G

(v) The probabnlny of getting head js 1 2on mssmg : Cﬂm curs most,
527 [7206 B] © Pagedorrg .
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BRI
BT T
0 1 R /A ¥ e ferRay — (5x1=5)
7 DT g
(ii) . S
P T8O gz g SETERT firferg
(i) T % S Prtwe ey
(v) = N
( Pt Rt @ g o Y ?
v w o o AEd #
. ﬁ‘ﬂtﬂ({l
Write answers in gpe word/ senten
(i) w ' | -
(11) Wh-a[ Will be dCCimal form of fraction : ?
G w:i :‘; example of degree (wo po]yn:)rnml
€ co-ordinates of orig i
(V) How > O origin point
. any number of lines can pass through two district points?
55 o nte the formylg of volume of cube.
: I S o |
o . (5x1=5)
i - -
(") (-3) x (-4) (a) 0.0
(1) -6+19 (b) 12
oy 1
(111) Tod (c) 0.5
(iv) -x618 (d) 13
Match the column-
‘A, ‘B
i) (-3)x(-4) (a) 0.0l
(i) -6+19 (b 12
L. ] :
("I) _{EE (c) 0.5
13
(iv) -x 618 @
P (e) 103
v) ;%3
- Page 5 of 16 o
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%6 (125): BT W By

N4

b

Simplify - (125)5 .

#Y4r/OR
é @ W B IEHR Fif |
Rationalise the denominator of % .

Canits ae 4 &4 famg 1 Refy fuiRa o areh dfre 7 oeafer Tl
@ T I E TA S farg &1 A9 a0y ot 4 v ghes @ E
What is the name of horizontal and the vertical lines drawn to determine the

position of any point in the Cartesian plane? Write the name of the point
where these two lines intersectl.

Fear / OR
aqaE &9 @ea 87
What is a Quadrant?
wF FE & o faenfyar @1 Jagdr (@ H) 3 € -
155, 160, 145, 149, 150, 147, 152, 144, 148

& ieel & ArEad I S|
The heights (in cm) of 9 students of a class are as follows-
155, 160, 145, 149, 150, 147, 152, 144, 148

'Find the median of this data.

gerar/OR

afwe 14, 25, 14, 28, 18, 17, 18, 14, 23, 22, 14, 18 P FEAP A BIT |

Find the mode of 14, 25, 14, 28, 18, 17, 18, 14, 23,22, 14, 18.

@

@
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U9 el Bife—
: 7 3 oy 13
(1) PR (i1) §+ p
Simplify-
W73 oy 1,3
(1) o T (1) p + 3
JUdar/OR

Rl ¥ <ol M erifed wi @ = v A e

Write the fraction forms of shaded portions shown in the given figures.

@ —

(i1)
910 WHIR AP B g SR | qer gad Sahe B Td B BT GH
0 foRay |
Write the definition of parallelogram. And write the formula of area of
parallelogram also. http://www.mpboardonline.com
a1/ OR
3mpfa H, ABCD U& WHiR oqwi & 3R EFCD t& amad 2| & &),
AL L DC®| fog oo f -
ar (ABCD) = ar (EFCD)
In fig. ABCD is a parallelogram and EFCD is a rectangle. Also, AL 1 DC,
Prove that -
ar (ABCD) = ar (EFCD)

wod duijuopieoqduur mmm//:dny

E-A E_B
1
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T11 0.6 B vy # ar A
q

¥12

PR K

Express 0.6 in the form of qE :
Far/OR
(V5 +V2)" @i & @R
Solve- (V5 + \/2‘)2.
k&7 A ST DIY, FafE x = 2.y = | GHSRT 2x43y = k FT T & 21|

Find the value of k. if x = 2, y = 1 is a solution of the equation 2x + 3y = k.
J9qi /OR

Wad FHE x =4y & B & & forRag |

Write the three solutions of linear equation x = dy.

WP H W@l PQ R RS R fig O ® wRwe w=d €| af

ZPOR: ZROQ=5:7 & @ ¥ 3101 sra Py

In fig, lines PQ and RS intersect each other at point O. If ZPOR : £ROQ =
5 : 7, then find all the angles.

Jyar/ OR

(3

()
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arpfa ¥, x 3R y @ A T/ DR iR faw 2aize 5 ABIICD 2

In given figure, find the values of x and y and then show that AB 11 CD.

SO\ S

A X

<

w+

<

y
& ™ VY

A14 D AT D BT 3:5:9:13 B U # ¥ 1 39 AGHA S WA FOT T
BIfHY |

The angles of quadrilateral are in the ratio 3:5:9:13. Find all the angles of the

quadrilateral.

I9q1/ OR
ATd B BIE I oRE fifag |

Write three properties of a rectangle.

Locate the points (5, 0), (0, 5), (-3, 5) and (-3,-5) in the Cartesian plane

@)

@)

wod durjuopieoqduur mmm//:dny

Jgar/OR
sty ¥ dwan FrefiRea o1 R -
(i) B fdu® (i) Ca Prdwim
(iii) D &7 3 (iv) g H® af
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inate of H

s et I

(ii) The Coordinates of C
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(1v
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g-

fio
'ure, and wriqe the followin
The Coordinages of B
The Abscissa of point D

See
(1)
(111)
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JCOLT ST
| ) iy | “
4w up ;

M ungje bisector of that angle.

ey
o NG By o YA oo

( rﬁlliﬁq |
v & halswnmun hits 4 b

: Ounda imes
Plays. Find the probgb; 'Y 6 times out of 30 balls she

lity that she g5
Y that she gig not hit a boundary,

Uh forg ;275 g
Bg A fora d ;120 an

¥4 A g% e @ ues #) e s AR |

Two coins are tossed simultancously 500 times, and we get-

Two Heads - [{)5 times
One Head 275 times
No Head « 120 times

of occurrence of each of these events,

Find the probability
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518 IR @ ¥ frRaw —
(1) 45,54,5.1.19
(i) -9,-7,6,-3

Write in increasing order-

(1) 45,54,5.1,19

i) -9.-7.6,-3

e/ OR
Mg ¥ ford —
) 3408 - fareiriteY
Gi) 4657 - Ferer

Write in Decimals-

(i) 340 meter - [ kilometer
i) 465gm - | ] kilogram
g9 wEN Y@l W e T -

.3 ]
(1) 2 (11) 5
Represent on the number line-

.. 3 ]
(1) 2 (i1) 3

i /OR
Wﬁﬂmaﬁmsﬁwmﬁmﬂ?iﬁﬁmﬁwswgmﬁﬁ

dter e g1, e e it A fot el €
Ina schoul class § has total students 240. [n school, class 5 has been divided

into 4 sections, then find how many students are there in each section?

wod duijuopieoqduu mmm//:dny
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H20  ABC t@ Wi Bnpat B Rl 24 = 900 sk AB = AC #1 2B @01 £C

W A W PR | “)
ABC is u right triangle in which ZA = 90° 4nd AB = AC, then find the value
of £B and £C.

JYar/ OR

=HiET 5 RN g e o1 wds @ g0 e &

Show that the angles of an equilateral triangle are 60° each.
B2 mpRY W, ZABC = 69° and ZACB = 31°#1 et 2BDC st #F “

In figure, ZABC = 69° and ZACB = 31°, then find ZBDC.

et/ OR
fag I B ga @ R Wy Fw ® W 3 safe s 2
Prove that equal chords of a circle subtend equal angles at the centre.

N22 TUAEUS wd A - (s)
y“‘aSy-ﬁﬁ

wod-dufjuopreoqdur mmm//:dny

Factorise-
y'-Sy+6
S /OR
Qg adafim w1 aNd (x + 2y + 42 B vER ity |
Expand (x + 2y +42)" using suitable identity.
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WRaas by X —
Draw the g,

Y =2 &%l 3neig dife |
aph of lineyr cquation x - y =2,

g4 / OR A
TP TR 3§ 2Rh B faRen Rifef € ; vea Reeindies @1 for %%
R TUD a7 T @ ol Rreiviren a1 v 5T @1 AR T H
g g x fheimfier & air ool e y 281, @ gaw! 0@ A e
fIRay sk swrat argeq diferg
The taxi fare in 4 city is as follows for the first kilometre, the fare is T8 and

for the subsequent distance it is 2 5 per km. Tuking the distance covered as x

!cm and total fare yy 2 Y. write a lincar equation for this information and draw
Its graph.

U Prysiar yuvs YOS B S 357 # oY et GRETT 300 W
IR (LS e — ifry |
The sides of a triangular plot

are in the ratio of 3:5:7 and its perimeter is
300 m. Find the area of this plot.

HYqr / OR

U® Ffet & dawe s A, FOrRrh < 3w 8 9. afR 113, & o
et afmy 32 38, &

Find the area of triangle, two sides of which are 8 cm and 11 ¢m and the
perimeter is 32 cm. http://www.mpboardonline.com

T E B g, NI SR G e S48 34, g, 750
uﬁtﬁ.faﬂﬁﬁwmaﬁﬁaﬁmwawmmmmm
g |

The length, breadth and hei ghtofaroomare Sm.4m. and 3 m respectively.

Find the cost of white washing the walls of the room and ceilin

' £ at the rate
Oftj.m per mz_

(5)

(5)

S2%.17206.5)
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The circumf;
25 cm. Howerf::: ;):r::he l;ase of a cylinder vessel is 132 cm and its height is
itres o
g;ﬂo cm’ = | litre) ater can it hold?
v.26 RO B
BT ¥ A B IR <2 g0 FaREl BT AR A T
)
I R .3) e
3000 P
4000 12
5000
10
6000 | .
7000 i :
8000 ; .
3000 E 3
10000 4
Fa A %
Find the mean salary of 60 workers of a factory from the following table -
Salary (in¥) Numbers of workers
3000 16
4000 12
5000 10
6000 8
7000 6
8000 4
8000 | 3
10000 | 1
Total i 60 —

-5.57_ 7206.5) PagetSofts
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g/ OR

o O & qedie & 10 da ¥ FrtEd T P8

2.3 45013343

matches-

2.3.4.5.0.1,3.3.4.3

Find the mean. median and mode of these scores.

—
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